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Question 1

In which of the following groups, all the three are examples of polysaccharide?

fARfEfTe NS N (FRHGro oG *IFAR =6 ATHIFRIRG-AF SRR ?

Question 2

Example of ideal buffer is

A6 M IPICIT SATRIT = -

Question 3

Which one is a sulphur containing amino acid?

AT TR SIS (FNG 2

Question 4

Which of the following amino acid have side chains that are negatively charged under physiological conditions (i.e. near pH 7)?

RIS (S SO ST A8 4e MATIGIT pH - G AT WLTIS?

Question 5

Example of a tetrameric protein is

JF6 (BRITNRF (AON-I7 BRI Z4-

Question 6

Enzymes increase the rate of reaction by
TUTES RIPNE T[S AIT© FTo-

Question 7

Which of the following keto acid is produced after the oxidative deamination of Alanine?

fNRAEe (@ FO-TTG0 SN WHG 6o GEIINTNTNG F B Y 3T ?

Question 8

Which cell organelle is the site of B-oxidation in eukaryotes?

2oFNRSTF RG-SR AT (F (FIT TR =T ?

Question 9

Example of a ‘derived lipid’ is

G0 RIS FI6-97 TAIRI Z-

Question 10



Which of the following DNA is left-handed?
AR (FH DNA I3t 2

Question 11

DNA replication is
DNA (I =e-

Question 12

‘Clover-leaf model’ is used to represent the structure of
" Clover-leaf Model "- 9 979« (IO IO =T~

Question 13

Find out the ‘False’ statement about ‘Klenow fragment'.

" Klenow Fragment " TAES el " ST N5 FEw-

Question 14

Which end of the t-RNA carries amino acid during translation process?

" BTN " Af@T t-RNA (FIH AT STWRNT WIIAG I2H HCI?

Question 15

Nucleotide is formed of , and

fRSFe0RT (off =3 : 8 KIEIN

Question 16

Where the formation of okazaki fragments are take place during DNA replication?
DNA S NFINBIET okazaki TS (FATT Hf5® =72

Question 17

Which type of ray forms thymine dimer in DNA?
(I AN [IFIT DNA-(S A=A GIRNK (o FLI?

Question 18

What is called the process of attachment of 7-methyl guanine at the 5' ends of mMRNA in eukaryotic cell?

FoMNRGOF (T MRNA-GF ¢' ATH -2 SN Y& Ao F Ice?

Question 19

Which of the following is not a termination codon?

fNRERS (@ (FIONG BRI (PN NT?

Question 20

Which enzyme is responsible for synthesis of tRNA?

fNREAR® (@ CETIEH6 tRNA B8 AT G WIN?



Question 21

Which one of the following amino acid can absorb UV ray?

&R @ SN SIe® UV 3R IS S0 ATE?

Question 22

Which is an example of alpha helix?

Alpha helix 7 GAIZIT (FING?

Question 23

Which statement is correct about non competitive inhibition?

ARG AOIETH 2RI (FLA (FN ST 052

Question 24

Which one is the epimer of D-glucose in terms of second carbon?

oy FRNOT AIARFS D-FLFTGE AT (F0?

Question 25

What is called formation of glycerol and alkaline salts of fatty acids by breaking down triglycerides in the presence of strong base (KOH or NaOH) and high
temperature?

*fG*TA 3H1 (KOH I NaOH) 8 B85 GHOF SAXSTS GrafASH2G (Srs 21517 & TN St SR @397 (O 8K To~IH (6 02

Question 26

Which information is correct about melting temperature of DNA (Tm)?
DNA- 51T SI9NI&1(Tm) TS (FTN O3 T {32

Question 27

Guanine (G) is always paired with whom?
QBN AT FIR Y (GG A2

Question 28

Which are the names of two pyrimidines present in RNA?

RNA-(® % 7o fHifRNew F /62

Question 29

What is the main difference between ribose sugar present in DNA and ribose sugar present in RNA?

DNA-(S BHZ® RS *IFAR S RNA-(S THABS FRCAI0] *I611 AL LT 52

Question 30

Which is the secondary metabolite present in tea?

BT MR TS (N [[FNFGme e (o2



